2023-08

NEW TO RANGE

(BY APPLICATION)

~ NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis jLai~

r* -
AUDI A3 (8P1) 03/03 -08/12 @
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
2600006 salincak burcu 71x26x51,5 mm
1KO0 407 183E calineHT6N0K pblyara 4 pins; FOR 2900045/6
6Q0 407 183 Casquillo cojinete, brazo oscilante

6Q0 407 183A

Silent bloc de suspension

AUDI TT (FV3) 08/14-
¥ 1109028 WISHBONE FRONT,LH
J—\Q\ salincak, 6n sol, alt
W 850407151D S2 pbiuar PAIR:1109029
| . Barra oscilante, suspensién de ruedas
& Triangle de suspension
e, 1109029 WISHBONE FRONT,RH
/7/ salincak, 6n sag
[t 850407151D-1 pblyar PAIR:1109028

Barra oscilante, suspensién de ruedas
Triangle de suspension

BMW

3 SERIES (G20)

11/18-

1208111

STABILIZER LINK
denge gubugu, 6n sag

FRONT,RH
L=317,2 mm

‘ ‘g 31306893360 cToliKa ctabunusaropa PAIR:1280112
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
1208112 STABILIZER LINK FRONT,LH
denge cubugu, 6n sol L=317,2 mm
l‘h -J 31306893359 cToliKa ctabunusatopa PAIR:1208111

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

BMW 5 SERIES (G30, F90) 07/16- e <o
1207059 AXIAL JOINT BOTH SIDES
v rotmili, 6n sag-sol
W - " 32108090617 S1 pynesas Tara

32108090618 S1 Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

1277084 AXIAL JOINT COMPLETE LH
komple rotmili, 6n sol

32108090617 pynesas Tara B c6ope PAIR:1277085

2023-08 (BY APPLICATION)

Barra de acoplamiento
Biellette de direction, comple

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

10of33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1277085 AXIAL JOINT COMPLETE RH
komple rotmili, 6n sag
— i S 32108090618 pynesas Tara B c6ope PAIR:1277084
" - ) Barra de acoplamiento
Biellette de direction, comple
STABILIZER LINK FRONT
1208120 denge rotu, 6n sag-sol L=179,5 mm
S— 31308091462 cToiiKa crabunusatopa
% Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW iX3 (G08) 01/20-
- STABILIZER LINK REAR
= 1208113 denge cubugu, arka L=134 mm
33556870702 cToliKa ctabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW X3 (G01, F97) 08/17-
< STABILIZER LINK REAR
- 1208113 denge cubugu, arka L=134 mm
& 33556870702 cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW X4 (G02, F98) 04/18 -
BALL JOINT BOTH SIDES
1204020 rotil, 6n sag-sol FRONT
31108090428 waposas onopa
< = = Rétula de suspension/carga
! Rotule de suspension
- STABILIZER LINK REAR
= 1208113 denge cubugu, arka L=134 mm
> 33556870702 CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
BMW 24 (G29) 11/18-
STABILIZER LINK FRONT,RH
1208114 FRONT.RH

0

> ‘ 31306886280

zrot, 6n sag
cToiiKa crabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

PAIR:1208115

1208115
‘ e 31306886279

2023-08 (BY APPLICATION)

STABILIZER LINK
z rot, 6n sol
cToiiKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

FRONT,LH
L=391 mm

PAIR:1208114

20f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

BUICK LA CROSSE (USA) 08/05 - 08/09
3 5602085 TIE ROD END LH
rotbasl, 6n sol
‘ ; 23227792 HaKo:eqHMK pynesoii Tarn PAIR:5602086

Roétula barra de acoplamiento
Rotule de direction

BUICK LA CROSSE Sedan 02/16-

5608098 STABILIZER LINK

denge rotu, 6n sol
22946081 cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT,LH
L=192 mm

PAIR:5608099

5608099 STABILIZER LINK

denge rotu, 6n sag

:c,
L E 22946080 cToliKa ctabunusatopa
£

23177280 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT,RH
L=192 mm

PAIR:5608098

BUICK RAINIER 08/04-08/05

5609153 TRACK CONTROL ARM

denge kolu, arka Ust
_‘ 15069838 poivar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR
MOOG TYPE

CADILLAC ESCALADE GMTS800 08/01-08/06
6009125 STRUT CONTROL ARM REAR,BOTH SIDES
denge kolu, arka sag-sol, Ust
H 15039393 pbiuar
15208540 Barra oscilante, suspensién de ruedas
15767252 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
6000089 denge kol burcu, arka sag-sol 43,8x14,2x51,8 mm
15039393 S1 calineHT6N0K FOR 6009125
, 15208540 51 Casquillo cojinete, brazo oscilante
' 1576725251 Silent bloc de suspension
CADILLAC ESCALADE GMT900 09/07 -12/14
6009125 STRUT CONTROL ARM REAR,BOTH SIDES

denge kolu, arka sag-sol, Ust
H 15039393 phivar
15208540

Barra oscilante, suspensién de ruedas
15767252 Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW.FORMPART.COM

30f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6000089

15039393 S1
15208540 S1
15767252 S1

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol
calineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,REAR
43,8x14,2x51,8 mm

FOR 6009125

CADILLAC ESCALADE 5th Generation 07/21-
5602091 reony
84179762 HAKOHEYHUK py/NieBo TArn PAIR:5602092
‘_:A__. Rétula barra de acoplamiento
Rotule de direction
5602002 oo,
X 84179763 HAKOHEYHUK pyNeBoit TArn PAIR:5602091
___-‘:6 Roétula barra de acoplamiento
Rotule de direction
CHEVROLET AVALANCHE (GMT900) 08/07-09/13

6009125 STRUT CONTROL ARM REAR,BOTH SIDES
denge kolu, arka sag-sol, Ust
H 15039393 pbluar
15208540 Barra oscilante, suspensién de ruedas
15767252 Triangle de suspension
CHEVROLET BEAT 01/17-
STABILIZER LINK BOTH SIDES
5607035 rotmili, 6n M16x1.5;M12x1.25;L=243 mm
95192778 cToliKa ctabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET CAPRICE 01/14-
5607095 TIE ROD AXIAL JOINT FRONT

wlf m——

rotmili, 6n

pyneBas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M14x1,5;M18x1,5;L=272 mm
MOOG TYPE

CHEVROLET SILVERADO 1500

09/18-

5602091
84179762

2023-08 (BY APPLICATION)

TIE ROD END
rotbasl, 6n sol
HaKOHEYHWK pyNeBon TArn

Rétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

LH
M16x1,5

PAIR:5602092

40f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5602092 TIE ROD END RH
rotbasl, 6n sag M16x1,5
84179763 HaKOHEYHWK py/ieBOM TATU PAIR:5602091
‘_‘;ﬁ Roétula barra de acoplamiento
Rotule de direction
5608100 STABILIZER LINK FRONT
denge rotu, 6n sag-sol L=111,5mm

: 84367821 cToliKa ctabunusatopa
th Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

CHEVROLET SUBURBAN (GMT 900) 01/05-
6009125 STRUT CONTROL ARM REAR,BOTH SIDES
denge kolu, arka sag-sol, st
H 15039393 pbiuar
15208540 Barra oscilante, suspensién de ruedas
15767252 Triangle de suspension
CHEVROLET SUBURBAN 07/21-
TIE ROD END LH
5602091 rotbasl, 6n sol M16x1,5
84179762 HaKOHEYHUK py/NieBOM TATU PAIR:5602092
&_:_&___ Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
5602092 rotbasl, 6n sag M16x1,5
84179763 HaKOHEYHWK py/ieBOM TArU PAIR:5602091
‘_‘;ﬁ Rétula barra de acoplamiento
Rotule de direction
CHEVROLET TAHOE 3rd Generation 08/07-08/14
6009125 STRUT CONTROL ARM REAR,BOTH SIDES

denge kolu, arka sag-sol, Ust
H 15039393 pbiuar
15208540

Barra oscilante, suspensién de ruedas

15767252 Triangle de suspension
CHEVROLET TAHOE 07/21-
TIE ROD END LH
5602091 rotbasi, 6n sol M16x1,5
84179762 HaKOHEYHWUK pyNeBOW TATU PAIR:5602092
“A__ Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
5602092 rotbasl, 6n sag M16x1,5
84179763 HAKOHEYHUK pyNeBo TAru PAIR:5602091
‘_‘:ﬁ Rotula barra de acoplamiento

Rotule de direction

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW.FORMPART.COM

50f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

CHEVROLET TRAILBLAZER 09/01-09/08

5609153 TRACK CONTROL ARM REAR

denge kolu, arka Ust MOOG TYPE
.-—-. 15069838 pbiar

Barra oscilante, suspensién de ruedas
Triangle de suspension

CHRYSLER 200 01/11-

1409103 SUPPORT ARM BOTH SIDES

denge kolu, arka sag-sol REAR
ﬁ 68079540AC pbiuar
68079540AE Barra oscilante, suspensién de ruedas

Triangle de suspension

CHRYSLER 300C 12/16- %‘T@ a
AXIAL JOINT BOTH SIDES
6007037 rotmili, &n M16X1,5;M18X1.5;L=330 mm
_* 68263724AA pynesas Tara
68263724AB Articulacién axial, barra de acoplamiento

Rotule de direction intérieure

A N

DODGE CHARGER 01/16- % : %@"

6007037 AXIAL JOINT BOTH SIDES
rotmili, 6n M16X1,5;M18X1.5;L.=330 mm
_* 68263724AA pynesas Tara
68263724AB Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

DODGE JOURNEY 1st Generation 08/09-

1409103 SUPPORT ARM BOTH SIDES

denge kolu, arka sag-sol REAR
ﬁ 68079540AC pbluar
68079540AE Barra oscilante, suspensién de ruedas

Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW FORMPART COM 60f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

DODGE RAM 1500 (DJ,DS) 10/08-

6009116 TRACK CONTROL ARM FRONT; UPPER
rotilli kol, 6n Gst 4WD WITH 8 LUG WHEELS

52013797AB pblyar

52013797AC Barra oscilante, suspensién de ruedas

52106784AD Triangle de suspension

6000084 TRACK CONTROL ARM BUSH FRONT; UPPER
rotilli kol burcu, 6n Ust

52013797AB S1 caiineHT6N0K FOR 6009116

52013797ACS1 Casquillo cojinete, brazo oscilante

52106784AD 51 Silent bloc de suspension

5609151 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, st

52855800AB pblyar

52855800AC Barra oscilante, suspensién de ruedas

52855800AE Triangle de suspension

5609152 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt

52855801AB pblyar

52855801AD Barra oscilante, suspensién de ruedas

52855801AF Triangle de suspension

5600095 TRACK CONTROL ARM BUSH REAR
denge kol burcu, arka 45,8x16,2x66,5 mm

52855800AB S1 caneHTb 10K FOR 5609151/2

52855800AC S1

52855800AE S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

5600096

52855801AH S1

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol
caiineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,REAR
56,5x16,2x66,5 mm

FOR 5609151/2

DODGE

RAM 2500 -3500

08/02-08/09

6009116 TRACK CONTROL ARM FRONT; UPPER
rotilli kol, &n (st 4WD WITH 8 LUG WHEELS
52013797AC Barra oscilante, suspensién de ruedas
52106784AD Triangle de suspension
6000084 TRACK CONTROL ARM BUSH FRONT; UPPER
9 rotilli kol burcu, 6n Ust
e 52013797AB S1 caiineHT6 10K FOR 6009116
52013797ACS1

52106784AD S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

DODGE STRATUS 08/95-08/06 & & e N

AXIAL JOINT FRONT; BOTH SIDES

3607078 rotmili, sol-sag, n M14x1,5;M14x1.5;L=336 mm
m’ 53010S0XA01 pyneBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
STOCK AND PRICE INFO ONLINE

2023-08 (BY APPLICATION) 7 of 33

WWW.FORMPART.COM



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FIAT FREEMONT (JC) 08/11-

1409103 SUPPORT ARM

denge kolu, arka sag-sol
ﬁ 68079540AC pbluar
68079540AE Barra oscilante, suspensién de ruedas

Triangle de suspension

BOTH SIDES
REAR

FORD EXPLORER (U251) 08/06-08/10

1509267 STRUT CONTROL ARM

- - denge kolu, arka sag-sol
H 61275A972A pbiar

Barra oscilante, suspensién de ruedas
Triangle de suspension

BOTH SIDES, REAR

FORD EXPLORER SPORT TRAC Pick up 08/06-08/10

1509267 STRUT CONTROL ARM

- - denge kolu, arka sag-sol
H 6L275A972A pbivar

Barra oscilante, suspensién de ruedas
Triangle de suspension

BOTH SIDES, REAR

FORD F-250 SUPER DUTY (X2A, X2B) 07/17-

1513317 STABILIZER LINK

- denge rotu, arka sag-sol
M DC375K484B S1 cToiika ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

BOTH SIDES,REAR
L=391 mm

GMC ENVOY 2nd Generation 08/02-08/09
5609 153 TRACK CONTROL ARM REAR
denge kolu, arka tist MOOG TYPE
M 15069838 pbiyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
GMC SIERRA 1500 09/19-
TIE ROD END LH
5602091 rotbasi, 6n sol M16x1,5
4, 84179762 HaKOHEYHWK py/ieBOM TArU PAIR:5602092
“,_-u-__ Rétula barra de acoplamiento

Rotule de direction

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW.FORMPART.COM

8of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5602092 TIE ROD END RH
rotbasl, 6n sag M16x1,5
84179763 HaKOHEYHWK py/ieBOM TATU PAIR:5602091
‘_‘;ﬁ Roétula barra de acoplamiento
Rotule de direction
5608100 STABILIZER LINK FRONT
denge rotu, 6n sag-sol L=111,5 mm

: 84367821

cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

— (R
GMC YUKON GMT900 08/07-08/14 ﬂ\g
6009125 STRUT CONTROL ARM REAR,BOTH SIDES
denge kolu, arka sag-sol, st
H 15039393 pbiuar
15208540 Barra oscilante, suspensién de ruedas
15767252 Triangle de suspension
GMC YUKON 01/20-
TIE ROD END LH
5602091 rotbasi, 6n sol M16x1,5
84179762 HaKOHEYHUK py/NieBOM TATU PAIR:5602092
&_:_&___ Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
5602092 rotbasl, 6n sag M16x1,5
84179763 HaKOHEYHWK py/ieBOM TArU PAIR:5602091
‘_‘;ﬁ Rétula barra de acoplamiento
Rotule de direction
HONDA ACCORD 01/18- | ntav
| g
- STABILIZER LINK REAR
Q 3608129 denge rotu, arka sag-sol L=59 mm
52320TLBAOO S1 cToliKa ctabunusaropa METAL VERSION
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA CIVIC X (FC) 08/16-
STABILIZER LINK FRONT,LH
3608132 denge rotu, 6n sol L=331,5 mm

i ’ 51325TGHAO1

cToiiKa crabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

PAIR:3608133

3608133
, “ 51320TGHAO01

2023-08 (BY APPLICATION)

STABILIZER LINK
denge rotu, 6n sag
cToiiKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

FRONT,RH
L=331,5 mm

PAIR:3608132

9of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

HONDA CROSSTOUR 08/10-08/15

3607081 TIE ROD AXIAL JOINT
.lp - - rotmili, 6n sag-sol
_-'-éa - 53010TP6A01 pynesas Tara
%;‘ Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES
M14x1,5:M20x1,5;L=167 mm

3607086 AXIAL JOINT

rotmili, 6n sag-sol
am 53610TP6A62 pynesan Tara
Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14,5x1,5;M20x1,5;L=166,8

HONDA CR-V V (RW, RT) 01/17-
Q 3608129 ZZ?:;L:zf: :Ir':: sag-sol EfsAngm
52320TLBAOO S1 cToliKa ctabunusatopa METAL VERSION

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

HONDA FIT 08/07-09/08
3602093 -rrzl)ltsbzgll,)éEnNSZI-sag ﬁ/ﬁl—g; 1S:|E5ES
53540SLNAO1 HaKOHEYHWK pyNieBoM TATU

Rétula barra de acoplamiento
Rotule de direction

HONDA ODESSEY 2nd Generation 08/99-08/04

3607078 AXIAL JOINT

rotmili, sol-sag, 6n

e 5301050XA01 pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

FRONT; BOTH SIDES
M14x1,5;M14x1.5;L=336 mm

HONDA ODYSSEY (RL5) 4th Generation 08/11-
3609158 WISHBONE LH
salincak, arka sol
52360SHJA00 pblyar PAIR:3609159

Barra oscilante, suspensién de ruedas
Triangle de suspension

3609159 WISHBONE
salincak, arka sag
52350SHJA00 pbiyar

Barra oscilante, suspensién de ruedas

Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW.FORMPART.COM

RH

PAIR:3609158

100f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TRACK CONTROL ARM BUSH BOTH SIDES,REAR
3600099 salincak burcu, arka sag-sol 41,1x16,2x52 mm
52350SHJA00 S1 calineHT6N0K FOR 3609158/9
52360SHJA00 51 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
HONDA ODESSEY (RC1,RC2,RC4) 12/13-
.« =" 3609145 WISHBONE FRONT,LH
salincak, 6n sol
) 51360TK8A10 pblyar PAIR:3609146
Barra oscilante, suspensién de ruedas
’ Triangle de suspension
P = 3609146 WISHBONE FRONT,RH
salincak, 6n sag
1 51350TK8A10 pbiyar PAIR:3609145
Barra oscilante, suspensién de ruedas
Q Triangle de suspension
HONDA ODESSEY 09/17-
3602094 TIE ROD END LH
rotbasl, 6n sol
53560THRA02 HaKOHEYHUK py/NieBOM TATU PAIR:3602095
Roétula barra de acoplamiento
Rotule de direction
3602095 TIE ROD END RH
rotbasl, 6n sag
53540THRA02 HaKOHEYHWK py/ieBOM TArU PAIR:3602094
Rétula barra de acoplamiento
Rotule de direction
3607083 AXIAL JOINT BOTH SIDES

i‘ - —‘Q.E 53610THRAO1

rotmili, 6n sag-sol
pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

M14x1,5;M16x1,5;L=231 mm

HONDA

PILOT

01/16-

3602067

M 53560TZ5A01

TIE ROD END
rotbasl, 6n sol
HaKOHEYHWK py/ieBOM TArU

Rétula barra de acoplamiento
Rotule de direction

LH, FRONT
M14x1,5

Pair: 3602068

2023-08 (BY APPLICATION)

52325-TG7-A01

denge rotu, arka sol
cToiiKa crabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

3602068 TIE ROD END RH, FRONT
rotbasi, 6n sag M14x1,5
53540TZ5A01 HaKOHEYHWK pyNIeBOM TATU Pair: 3602067
Rétula barra de acoplamiento
Rotule de direction
3608084 STABILIZER LINK LH, REAR
L=128 mm

Pair: 3608085

110f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

STABILIZER LINK RH, REAR
3608085 denge rotu, arka sag L=128 mm
52320TG7A01 cToliKa ctabunusatopa Pair: 3608084
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA RIDGELINE 01/17-
TIE ROD END LH, FRONT
3602067 rotbasi, 6n sol M14x1,5
- ’ﬁ 53560TZ5A01 HAKOHEYHUK py/NieBo TArn Pair: 3602068
a Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH, FRONT
I 3602068 rotbasi, 6n sag M14x1,5
ﬁ‘;\ & 53540TZ5A01 HAKOHEYHUK pyNeBoit TArn Pair: 3602067
i T Roétula barra de acoplamiento
Rotule de direction
HONDA SHUTTLE 06/95 -
3607054 AXIAL JOINT BOTH SIDES

53010-SX0-003

T

N

rotmili, 6n sag-sol

pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M14x1,5;M16x1,5;L=149 mm

HYUNDAI

ELANTRA (J2) - LANTRA

09/95 - 05/00

3709143

H 5521029000

STRUT CONTROL ARM
denge kolu, alt, arka sag-sol
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

BOTH SIDES,REAR

HYUNDAI GENESIS (BH) 01/08-12/15
TRACK CONTROL ARM LH
. 3705033 rotilli kol, 6n sol FRONT
o 545053M000 pblyar PAIR:3705034
- 5450537000 Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM RH
3705034 rotilli kol, 6n sag FRONT
o é 545063M000 pbluar PAIR:3705033
5450637000

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

12 0f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

mmn

HYUNDAI H-100, VAN 06/92 -08/04
STABILIZER LINK REAR
3708096 denge rotu, arka =191 mm
::IH' 5471943000 cToliKa ctabunusatopa
5471943001 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HYUNDAI IX 35 01/10-08/15 —
> BALL JOINT BOTH SIDES
3704031 rotil, 6n sag-sol FRONT
54530-25500 waposas onopa
Rétula de suspension/carga
Rotule de suspension
HYUNDAI SONATA IV 03/98 - 05/05
3709117 TRACK CONTROL ARM REAR
denge kolu, arka, alt
Peeemm—f) 5525035000 pordar
Barra oscilante, suspensién de ruedas
Triangle de suspension
INFINITY G35 08/03-
AXIAL JOINT BOTH SIDES
\ 4107064 rotmili, 6n M14x1.5;M18x1;L=180 mm
@h 48521JK60A pynesas Tara
- D8521JK60A Articulacion axial, barra de acoplamiento
D8E21IK60A Rotule de direction intérieure
INFINITY G37 08/10-09/12
AXIAL JOINT BOTH SIDES
_ 4107064 rotmili, 6n M14x1.5;M18x1;L=180 mm
@h 48521JK60A pynesas Tara
o D8521JK60A Articulacion axial, barra de acoplamiento
DSE21JKE0A Rotule de direction intérieure
INFINITY Qx50 (1) 04/18-
TIE ROD END LH
4102143 rotbasi, 6n sol M16x1,5
D86405NAOA HaKOHEYHWUK pyNeBon TArn PAIR:4102144

2023-08 (BY APPLICATION)

Roétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

13 0f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TIE ROD END RH
4102144 rotbasi, 6n sag M16x1,5
D85205NAOA HaKOHEYHUK pyNeBon TArn PAIR:4102143
Roétula barra de acoplamiento
Rotule de direction
INFINITY Qx55 01/22-
TIE ROD END LH
4102143 rotbasi, 6n sol M16x1,5
D86405NAOA HAKOHEYHUK py/NieBo TArn PAIR:4102144
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
4102144 rotbasi, 6n sag M16x1,5
D85205NA0A HAKOHEYHUK pyNeBoit TArn PAIR:4102143
Roétula barra de acoplamiento
Rotule de direction
ISUZU ASCENDER 08/03-08/08
5609153 TRACK CONTROL ARM REAR
denge kolu, arka tist MOOG TYPE
M 15069838 poruar

Barra oscilante, suspensién de ruedas
Triangle de suspension

IVECO DAILY VI 08/14- o
1409112 WISHBONE BOTH SIDES,FRONT
salincak, alt, 6n sag-sol
5801564316 S1 pblyar ' ¢

Barra oscilante, suspensién de ruedas
Triangle de suspension

JAGUAR XF SERIES X260 05/15-
< WISHBONE LH
1o 4809014 salincak, 6n, Ust sol UPPER, FRONT
‘1 r GX733091BA pbluar Pair: 4809015
s TAN1130 Barra oscilante, suspensién de ruedas
L4 ) :
Triangle de suspension
= WISHBONE RH
o 4809015 salincak, on, (st sag UPPER, FRONT
o GX733084BA pblyar Pair: 4809014
o : TAN1128 Barra oscilante, suspension de ruedas

Triangle de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

14 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JAGUAR XE (X760) 03/15-
P WISHBONE LH
Lo 4809014 salincak, 6n, Ust sol UPPER, FRONT
_b_.f r GX733091BA pblyar Pair: 4809015
s TAN1130 Barra oscilante, suspensién de ruedas
o . .
Triangle de suspension
) WISHBONE RH
(-] 4809015 salincak, on, iist sag UPPER, FRONT
T GX733084BA pblyar Pair: 4809014
o i TAN1128 Barra oscilante, suspension de ruedas
Triangle de suspension
JEEP CHEROKEE (X)) 10/84 - 09/01
FRONT
6109041 STRUT CON'IA'AROL {-\RM
denge kolu, 6n sag-sol, orta
— 52087710 pbiuar
52087711 Barra oscilante, suspensién de ruedas
k52087711 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
6100018 denge kol burcu, 6n sag-sol, Ust 45,5x10x51 mm
52000211 calineHT6N0K FOR 6109041
52002536 Casquillo cojinete, brazo oscilante
52087709 Silent bloc de suspension
JEEP CHEROKEE (KL) 11/13-
FRONT,LH
6109024 WISHBONE
‘ salincak, 6n sol, alt
/F“"’ ‘e 4668993AC — Pair: 6109025
> 4668993AD Barra oscilante, suspensién de ruedas
4668993AE Triangle de suspension
FRONT,RH
3 6109025 ‘sAaIII|sn|::k0|:§ sag, alt
o> "’“—‘z\ 4877838AE pbivar Pair: 6109024
u/‘-\ 68210238AE Barra oscilante, suspensién de ruedas
68210238AF Triangle de suspension
LH, REAR
6109014 TRACK CONTROL ARM ,
denge kolu, arka sol
05090045AE pblyar Pair: 6109015
5090045AF Barra oscilante, suspensién de ruedas
K05080045AC Triangle de suspension
RH, REAR
6109015 TRACK CONTROL AI}M
denge kolu, arka sag
05090044AE pblyar Pair: 6109014
5090044AF Barra oscilante, suspensién de ruedas
KO5090044AC

Triangle de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

150f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JEEP COMPASS (MK 49) 08/06 -08/15 =

6109040 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol

5105688AC pblyar

5105688AD Barra oscilante, suspensién de ruedas

>105688AF Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR

‘ 3900041 denge kol burcu, arka sag-sol 35,6x12,2x49,6 mm
f 5105688AC S1 caiineHT6N0K FOR 6109040
5105688AD S1 Casquillo cojinete, brazo oscilante
4 5105688AE S1

Silent bloc de suspension

JEEP GRAND CHEROKEE 1 (Z)) 09/91 - 04/99
6109041 STRUT CONTROL ARM FRONT
denge kolu, 6n sag-sol, orta
m 52087710 pblyar
52087711 Barra oscilante, suspensién de ruedas
k52087711 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
6100018 denge kol burcu, 6n sag-sol, tist 45,5x10x51 mm
52000211 calineHT6N0K FOR 6109041
52002536 Casquillo cojinete, brazo oscilante
52087709

Silent bloc de suspension

JEEP GRAND CHEROKEE Il (WJ-WG) 01/99 - 06/05
6109041 STRUT CONTROL ARM FRONT
denge kolu, 6n sag-sol, orta
“ 52087710 pbiuar
52087711 Barra oscilante, suspensién de ruedas
K52087711 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
6100018 denge kol burcu, 6n sag-sol, st 45,5x10x51 mm
52000211 caiineHT6N0K FOR 6109041
52002536 Casquillo cojinete, brazo oscilante
52087709

Silent bloc de suspension

JEEP WRANGLER Il (TJ) 08/96 - 11/07
6109041 STRUT CONTROL ARM FRONT
denge kolu, 6n sag-sol, orta
m 52087710 pbiuar
52087711 Barra oscilante, suspensién de ruedas
K52087711 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
6100018 denge kol burcu, 6n sag-sol, st 45,5x10x51 mm
52000211 caiineHT610K FOR 6109041
52002536 Casquillo cojinete, brazo oscilante
52087709

Silent bloc de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

16 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JEEP WRANGLER IV (JL) 11/17-
STABILIZER LINK REAR
S 6108043 denge rotu, arka sag-sol L=222,5mm
Z 68293034AA cToliKa ctabunusatopa
68293034AB Travesafios/barras, estabilizador
68445126AA Biellette de barre stabilisatrice
- STABILIZER LINK FRONT
. 6108044 denge rotu, 6n sag-sol L=129 mm
L= 68293033AA cToliKa ctabunusaropa
68293033AB Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
KIA MAGENTIS | (GD,MS) 08/01 -10/05
3709117 TRACK CONTROL ARM REAR
denge kolu, arka, alt
H 5525038000 pbiuar
Barra oscilante, suspensién de ruedas
Triangle de suspension
KIA SORENTO Il (XM) 11/09 -08/14
STABILIZER LINK REAR
3708096 denge rotu, arka L=191 mm
:;IH' 5471943000 cToliKa ctabunusaropa
5471943001 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
LAND ROVER DEFENDER Station Wagon (L663 09/19 -
- TIE ROD END BOTH SIDES
1702012 rotbasi, 6n sag-sol M16x1,5
LR129166 HaKOHEYHWK pyNeBoM TATU
= Rétula barra de acoplamiento
Rotule de direction
LAND ROVER DISCOVERY SPORT (L550) 01/14-
- TIE ROD END BOTH SIDES
== 1702011 rotbasi, 6n sag-sol M16x1,5
LR125333 HaKOHEYHWK py/ieBOM TATU
‘/ = ' LR135927 Rétula barra de acoplamiento
- Rotule de direction
STABILIZER LINK REAR,LH
) 1708025 denge rotu, arka sol L=159 mm
LR114304 CTOWKa cTabunusaropa PAIR:1708026

2023-08 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

17 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

(9_ -

1708026

LR114303

STABILIZER LINK
denge rotu, arka sag
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR,RH
L=159 mm

PAIR:1708025

LAND ROVER RANGE ROVER EVOQUE (L551) 12/18-
- TIE ROD END BOTH SIDES
== 1702011 rotbasi, 6n sag-sol M16x1,5
LR125333 HaKOHEYHWK py/NieBoM TATU
: ‘ LR135927 Rétula barra de acoplamiento
- Rotule de direction
STABILIZER LINK REAR,LH
__ \ 1708025 denge rotu, arka sol L=159 mm
LR114304 cToiiKa crabunusatopa PAIR:1708026
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK REAR,RH
. _ 1708026 denge rotu, arka sag L=159 mm
LR114303 cToliKa ctabunusaropa PAIR:1708025

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

LEXUS ES300 (XV20) 08/96-08/01
. 4209133 WISHBONE LH, FRONT
salincak, 6n sol
4806933030 pblyar NnoABeCKU Pair: 4209132
4806933031 Barra oscilante, suspensién de ruedas
Triangle de suspension
. 4209132 WISHBONE RH, FRONT
salincak, 6n sag
4806833030 pblyar nogseckun Pair: 4209133
4806833031 Barra oscilante, suspension de ruedas
Triangle de suspension
LEXUS GS (S16) 08/97 - 08/04
TRACK CONTROL ARM LH
4205024 rotilli kol, 6n sol, alt FRONT LOWER
4867030240 pblyar PAIR:4205025
4867030280 Barra oscilante, suspensién de ruedas
4867030281 Triangle de suspension
TRACK CONTROL ARM RH
4205025 rotilli kol, 6n sag, alt FRONT LOWER
4866030240 pblyar PAIR:4205024
4866030280 Barra oscilante, suspensién de ruedas
4866030231 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
4200117 rotilli kol burcu, 6n sag-sol 65,2x14,2-19,5x65 mm
4867030240 S1 calineHT6N0K FOR 4205024/5
Casquillo cojinete, brazo oscilante

2023-08 (BY APPLICATION)

Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

18 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4209271 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt

4870530070 pblyar

4870530080 Barra oscilante, suspensién de ruedas

4870553010 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR

4200118 denge kol burcu, arka sag-sol 32x12,2x43,7 mm

4870530070 S1 caiineHT6N0K FOR 4209271
Casquillo cojinete, brazo oscilante
Silent bloc de suspension

LEXUS LC (Z10) 11/16 -
& TIE ROD END LH
4202168 rotbasi, 6n sol M16x1,5

45470-19085

HaKOHEYHWUK pPy/NIeBOM TArn
Roétula barra de acoplamiento
Rotule de direction

PAIR:4202169

& 4202169

45460-19255

TIE ROD END
rotbasi, 6n sag
HaKOHEUHUK py/aeBoM TArn

Rétula barra de acoplamiento
Rotule de direction

RH
M16x1,5

PAIR:4202168

STABILIZER LINK FRONT,LH
! 4208189 denge rotu, 6n sol L=102,5 mm
’ 4881011010 cToiiKa ctabunusatopa PAIR:4208190
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK FRONT,RH
l 4208190 denge rotu, 6n sag L=102,5 mm
‘ 4882011010 CTOMKa cTabunusartopa PAIR:4208189
~ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
MAZDA CX-5 (KF) 11/16 -
AXIAL JOINT FRONT
3807074 rotmili, 6n sag-sol M14x1,5;M14x1,5;L=256,5 mm
“ . K12332240 pynesas Tara
LM F‘- "
e E—— Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
MERCEDES BENZ A SERIES (W177) 03/18-
9 STABILIZER LINK REAR, BOTH SIDES
1908196 denge rotu, arka sag-sol L=88 mm
2473205300 cToliKa ctabunusaropa
A2473205300 Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

19 0f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MERCEDES BENZ B SERIES (W247)

02/19-

T 1908196

2473205300
A2473205300

STABILIZER LINK
denge rotu, arka sag-sol
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR, BOTH SIDES
L=88 mm

MERCEDES BENZ CLA 118

05/19-

| STABILIZER LINK REAR, BOTH SIDES

1908196 denge rotu, arka sag-sol L=88 mm

2473205300 CTOWKa cTabunusaropa

A2473205300 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

MITSUBISHI ECLIPSE CROSS (GKOW) 10/17-

3909067 STRUT CONTROL ARM BOTH SIDES, REAR
denge kolu, arka sag-sol

4110A133 pblyar

Barra oscilante, suspensién de ruedas

Triangle de suspension

3900037

4110A133 51

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol
caiineHT610K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,REAR

35,6x12,5x49,5 mm

FOR 3909067

MITSUBISHI GALANT VI

09/96 - 10/04

3607078
e 5301050XA01

AXIAL JOINT
rotmili, sol-sag, on
pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

FRONT; BOTH SIDES
M14x1,5;M14x1.5;L=336 mm

NISSAN ALTIMA (L34)

08/18-

e

4107099

AXIAL JOINT
rotmili, 6n sag-sol

BOTH SIDES

M14x1,5;M16x1,5;L=203 mm

2023-08 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

485216CA0A pyneBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

4108187 STABILIZER LINK REAR,LH
denge rotu, arka sol

562614RA0B CTOWKa cTabunusaropa PAIR:4108188

200f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4108188 STABILIZER LINK REAR,RH

denge rotu, arka sag

562614RA0A cToliKa ctabunusatopa PAIR:4108187
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

NISSAN ARMADA 08/03-12/15

4109177 WISHBONE BOTH SIDES
salincak, arka sag-sol, alt

551B07S000 pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

NISSAN PATHFINDER (R51) 01/05 -
4109177 WISHBONE BOTH SIDES
salincak, arka sag-sol, alt
551B07S000 pblyar
e Barra oscilante, suspensién de ruedas
Triangle de suspension
/GNEERN
OPEL CROSSLAND X (P17) 03/17- % " %“‘W‘
1
WISHBONE LH
2009049 salincak, 6n, alt sol LOWER, FRONT
9819418180 pblyar noABeCcKuU Pair:2009050
3647087 Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE RH, FRONT
2009050 salincak, 6n, alt sag LOWER
3647086 pblyar nogBeckun Pair: 2009049
9819418280 Barra oscilante, suspensién de ruedas
Triangle de suspension
PORSCHE 911 (991) 12/11-
4605003 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, Ust
99133104503 pblyar
99133104520 Barra oscilante, suspensién de ruedas
9P1501529 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
4600006 denge kol burcu, arka sag-sol 45x12,2x42 mm
A 99133104503 S1 caiineHT6n0K FOR 4605003

99133104520 S1
9P1501529 S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

210f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

PORSCHE 911 (996) 09/97 - 08/05
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
4600007 denge kol burcu, arka sag-sol 41,1x12,2x31,2 mm
96634105318 calineHT6N0K FOR 4605000
99634105318

99634106300 S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

4600008

99633124403
99634105318
99634106300 S2

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol
caiineHT610K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,REAR
55,3x14,2x42,8 mm

FOR 4605000

PORSCHE PANAMERA (971) 05/16-
TIE ROD END LH
4602006 rotbasi, 6n sol M16x1,5
971423811B HAKOHEYHUK pyNieBoit TArn PAIR:4602007
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
4602007 rotbasi, 6n sag M16x1,5
971423812B HaKOHEYHWK py/ieBOM TArU PAIR:4602006
Rétula barra de acoplamiento
Rotule de direction
PONTIAC G8 01/08-
TIE ROD AXIAL JOINT FRONT
5607095 rotmili, 6n M14x1,5;M18x1,5;L=272 mm
_. 92198273 pynesas Tara MOOG TYPE
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
RAM PROMASTER 2500 08/13-
STABILIZER LINK REAR
6008081 denge rotu, arka sag-sol L=130,5 mm
68168052AB cToiiKa ctabunusatopa
68168052AC Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
7\
RAM 1500 08/11- w
TRACK CONTROL ARM FRONT; UPPER
6009116 rotilli kol, 6n Gist 4WD WITH 8 LUG WHEELS
52013797AC Barra oscilante, suspensién de ruedas
52106784AD

2023-08 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

22 0f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6000084 TRACK CONTROL ARM BUSH FRONT; UPPER
@ rotilli kol burcu, 6n Ust
B - 52013797AB S1 caneHTbnok FOR 6009116
) 52013797ACS1 Casquillo cojinete, brazo oscilante

52106784AD 51 Silent bloc de suspension

5609151 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol,list
52855800AB pbiuar

52855800AC Barra oscilante, suspensién de ruedas

52855800AE Triangle de suspension

5609152 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt

52855801AD Barra oscilante, suspensién de ruedas

52855801AF Triangle de suspension

TRACK CONTROL ARM BUSH REAR
5600095 denge kol burcu, arka 45,8x16,2x66,5 mm

52855800AB S1 caitneHTé6n0K FOR 5609151/2

52855800AC S1 Casquillo cojinete, brazo oscilante

52855800AE 51 Silent bloc de suspension

5600096 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
denge kol burcu, arka sag-sol 56,5x16,2x66,5 mm
52855801AH S1 cailneHTbnoK FOR 5609151/2

Casquillo cojinete, brazo oscilante

bl 52550000 pbiar

Silent bloc de suspension

RAM 1500 CREW CAB (DT) 12/18-

TIE ROD END BOTH SIDES
6102025 rotbasi, 6n sag-sol M16x1,5
68399088AA HAKOHEYHUK py/ieBoi TArU
68399088AB Rétula barra de acoplamiento
68339088AC Rotule de direction

STABILIZER LINK REAR
6008082 denge rotu, arka sag-sol L=284,5 mm
68409882AB CTOWKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

RAM 2500 02/11-12/18
TRACK CONTROL ARM FRONT; UPPER

6009116 rotilli kol, n Gst 4WD WITH 8 LUG WHEELS
52013797AC Barra oscilante, suspension de ruedas
52106784AD Triangle de suspension
6000084 TRACK CONTROL ARM BUSH FRONT; UPPER

@ rotilli kol burcu, 6n Ust

"‘L'.'» 4 52013797AB S1 caiineHT6N0K FOR 6009116

) 52013797ACS1 Casquillo cojinete, brazo oscilante

52106784AD 51 Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW._FORMPART.COM 23 0f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

SKODA FABIA | (6Y2) 12/99 -11/06
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
2600006 salincak burcu 71x26x51,5 mm
1K0 407 183E caiineHT610K pbluara 4 pins; FOR 2900045/6
6Q0 407 183 Casquillo cojinete, brazo oscilante
6Q0407183A Silent bloc de suspension
SUBARU B4 (BM,BR) 08/09-09/14
= WISHBONE FRONT,LH
Y 3509046 salincak, 6n sol L=347 mm
20202AJ010 pbiuar PAIR:3509047
20202AJ110 Barra oscilante, suspensién de ruedas
20213AJ000 Triangle de suspension
WISHBONE FRONT,RH
? 3509047 salincak, 6n sag L=347 mm
20202AJ000 pbiyar PAIR:3509046
20202AJ040 Barra oscilante, suspensién de ruedas
Triangle de suspension
SUBARU FORESTER (SH) 01/08 -08/13
3509044 STRUT CONTROL ARM REAR,LH
denge kolu, arka sol, alt
20250AJ010 pbiyar PAIR:3509045
20250AJ070 Barra oscilante, suspensién de ruedas
20250FG010 Triangle de suspension
3509045 STRUT CONTROL ARM REAR,RH
denge kolu, arka sag, alt
20250AJ000 pblyar PAIR:3509044
20250AJ060 Barra oscilante, suspensién de ruedas
20250FGO00 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
3500015 denge kol burcu, arka sag-sol 52,5x20,2x59,8 mm
20250AJ000 S1 calineHT6nok FOR 3509044/5
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
SUBARU FORESTER (SK) 04/18-
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
3500016 salincak burcu, 6n sag-sol 37x12,2x57 mm
20204AG030 calineHT6noK FOR 3509046/7;3509052/3
20204AJ000 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
STABILIZER LINK FRONT,LH
2’ 3508020 denge rotu, én sol L=315,5 mm
ﬁ *.ﬁ-. 20420FL0O30 cToiiKa ctabunusatopa PAIR:3508021
-

2023-08 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

24 0f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

STABILIZER LINK FRONT,RH
e 21
\é 35080 denge rotu, 6n sag L=315,5 mm
& ﬁ% 20420FL020 cToiiKa cTabunmsatopa PAIR:3508020
% Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508022 STABILIZER LINK REAR,LH
denge rotu, arka sol L=113 mm
BRI 2 | 20470FLO10 cToliKa ctabunusatopa PAIR:3508023
’ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
‘ 3508023 STABILIZER LINK REAR,RH
denge rotu, arka sag L=113 mm
e 20470FLO00O cToiiKa ctabunusatopa PAIR:3508022
Y Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
ATEN
SUBARU IMPREZA (GE,GH,GR,GV) 01/08 -11/11 T
L b —
3509044 STRUT CONTROL ARM REAR,LH
denge kolu, arka sol, alt
20250AJ010 pbiuar PAIR:3509045
20250AJ070 Barra oscilante, suspensién de ruedas
20250FG010 Triangle de suspension
3509045 STRUT CONTROL ARM REAR,RH
denge kolu, arka sag, alt
20250AJ000 pblyar PAIR:3509044
20250AJ060 Barra oscilante, suspensién de ruedas
20250FG000 Triangle de suspension
3500015 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
denge kol burcu, arka sag-sol 52,5x20,2x59,8 mm
20250AJ000 S1 calineHT6n0K FOR 3509044/5
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
SUBARU IMPREZA (GT,GK) 10/16-
3508018 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=300 mm
20420FLO1A cToliKa ctabunusatopa PAIR:3508019
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508019 STABILIZER LINK FRONT,RH
denge rotu, 6n sag L=300 mm
20420FLO0A cToiiKa ctabunusatopa PAIR:3508018
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508022 STABILIZER LINK REAR,LH
denge rotu, arka sol L=113 mm
20470FL0O10 cToiiKa ctabunusatopa PAIR:3508023
’ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508023 STABILIZER LINK REAR,RH
denge rotu, arka sag L=113 mm
20470FLO00O cToliKa ctabunusatopa PAIR:3508022

v

2023-08 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

250f 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3508024 STABILIZER LINK REAR,LH
denge rotu, arka sol
20470FL0O30 cToliKa ctabunusatopa PAIR:3508025
s 20470FLO3A Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508025 STABILIZER LINK REAR,RH
denge rotu, arka sag
20470FL020 cToliKa ctabunusatopa PAIR:3508024
- 20470FLO2A Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
- 3509046 WISHBONE FRONT,LH
: salincak, 6n sol L=347 mm
20202AJ010 pbiyar PAIR:3509047
20202AJ110 Barra oscilante, suspensién de ruedas
20213AJ000 Triangle de suspension
3509047 WISHBONE FRONT,RH
7 salincak, 6n sag L=347 mm
20202AJ000 pbiuar PAIR:3509046
20202AJ040 Barra oscilante, suspensién de ruedas
Triangle de suspension
3500016 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 37x12,2x57 mm
20204AG030 calineHT610K FOR 3509046/7;3509052/3
20204AJ000 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
3500017 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 60x14,2x60 mm
20202AJ040 S1 calineHT6n0K FOR 3509046/7

20204-AJ010
20204-AJ020

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FRONT,LH

- 3508020 STABILIZER LINK ,

" denge rotu, 6n sol L=315,5 mm
Q:—Ph 20420FL030 croiika crabunusaropa PAIR:3508021
an Travesafios/barras, estabilizador

Biellette de barre stabilisatrice
FRONT,RH
Py 3508021 STABILIZER LINK ,
\{5 denge rotu, 6n sag L=315,5 mm
‘3 T& 20420FL020 cToiiKa ctabunusatopa PAIR:3508020
= Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508022 STABILIZER LINK REAR,LH
denge rotu, arka sol L=113 mm
20470FL0O10 cToiiKa ctabunusatopa PAIR:3508023
’ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3508023 STABILIZER LINK REAR,RH
denge rotu, arka sag L=113 mm
20470FLO00O cToliKa ctabunusatopa PAIR:3508022

“

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

26 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TOYOTA AVENSIS (T22) 01/98 - 08/03
TIE ROD END LH
4201073 rotbasi, arka sol M16x1,5 LHT
B 4874005030 S1 HaKOHEYHUK pyneBou TArn PAIR:4201074
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
4201074 rotbasi, arka sag M16x1,5 RHT
s 4873005030 S1 HaKOHEYHMK pyNeBoil Taru Pair:4201073
Rétula barra de acoplamiento
Rotule de direction
4209282 STRUT CONTROL ARM REAR,LH
denge kolu, arka sol
e R — 4 4874005030 pbiuar PAIR:4209283
4874005050 Barra oscilante, suspension de ruedas
Triangle de suspension
4209283 STRUT CONTROL ARM REAR,RH
denge kolu, arka sag
h . —) 4873005030 pbiuar PAIR:4209282
4873005050

Barra oscilante, suspensién de ruedas
Triangle de suspension

TOYOTA AVALON (XX10,XX20) 08/95-08/04
4201075 TIE ROD END LH
rotbagi, arka sol M18x1,5 LHT
_ 48730AA020 S1 HaKOHEYHMK pyneBoit Tarm PAIR:4201076
Rétula barra de acoplamiento
Rotule de direction
4201076 TIE ROD END RH
rotbasi, arka sag M18x1,5 RHT
—ﬂ 48740AA020 S1 HaKOHEYHWK py/ieBOM TArU PAIR:4201075
Rétula barra de acoplamiento
Rotule de direction
4201077 TIE ROD END LH
rotbasl, arka sol M18x1,5 LHT
48740AA020 S2 HaKOHEYHUK pyNeBon TArn PAIR:4201078
Rétula barra de acoplamiento
Rotule de direction
4201078 TIE ROD END RH
rotbagl, arka sag M18x1,5 RHT
48730AA020 S2 HAKOHEYHUK py/NieBoi TArn PAIR:4201077
Rétula barra de acoplamiento
Rotule de direction
4209269 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt
b-—‘ 48730AA020 pbivar PAIR:4209270
Barra oscilante, suspensién de ruedas
Triangle de suspension
4209270 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt
F—ﬁ 48740AA020 pblyar PAIR:4209269

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

27 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TOYOTA CAMRY (CV2, XV2) XV20 08/96 - 10/01
. 4209132 WISHBONE RH, FRONT

salincak, 6n sag

4806833030 pblyar nogseckun Pair: 4209133

4806833031 Barra oscilante, suspensién de ruedas
Triangle de suspension

. 4209133 WISHBONE LH, FRONT

salincak, 6n sol

4806933030 pblyar nogBeckun Pair: 4209132

4806933031 Barra oscilante, suspensién de ruedas
Triangle de suspension

4209269 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt

D w——)  18730AA020 pbiuar PAIR:4209270

Barra oscilante, suspensién de ruedas
Triangle de suspension

4209270 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt

D v e—l) 1874077020 pbiuar PAIR:4209269
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA CAMRY (V7,VA7,VH7) 07/17-
Py 4202162 TIE ROD END o

rotbasi, 6n sol

45470-39365

HaKOHEUHUK py/aeBoM TATU
Rétula barra de acoplamiento
Rotule de direction

PAIR:4202163

4202163

45460-80008

TIE ROD END
rotbagi, 6n sag
HaKOHEYHWUK pyNeBON TArn

Rétula barra de acoplamiento
Rotule de direction

RH

PAIR:4202162

4208187 STABILIZER LINK FRONT
denge rotu, 6n sag-sol L=?
H 4882006100 cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TOYOTA COROLLA HYBRID (E-CVT) 03/19-
STABILIZER LINK REAR
4208144 denge rotu, arka alt LOWER
H 4871047010 cToiiKa cTabunmsatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

28 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TOYOTA PRIUS Plus W4 (XW40) 01/16-
STABILIZER LINK REAR
4208144 denge rotu, arka alt LOWER
4871047010 cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TOYOTA PRIUS PHV W52 09/15-
STABILIZER LINK REAR
4208144 denge rotu, arka alt LOWER
4871047010 CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TOYOTA SOLARA (XV20) 08/99-08/03
4209269 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt
D ——)  18730AA020 pbiuar PAIR:4209270
Barra oscilante, suspensién de ruedas
Triangle de suspension
4209270 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt
D e e—) 1874071020 pbiuar PAIR:4209269
Barra oscilante, suspensién de ruedas
Triangle de suspension
TOYOTA TACOMA (N1) 01/95 - 08/04
) BALL JOINT RH
4204092 rotil, 6n sag, Ust FRONT
‘ ‘ ‘ ‘ 4335039105 waposasa onopa PAIR:4204093
> @w 2SS9 s 4806635140 S1 Rétula de suspensién/carga
=S Rotule de suspension
BALL JOINT LH
4204093 rotil, 6n sol, Ust FRONT
4806735070 S1 waposasn onopa PAIR:4204092
Rétula de suspension/carga
Rotule de suspension
. WISHBONE FRONT,RH
1 4209257 salincak, 6n sag, st FOR RWD
4806635140 pblyar PAIR:4209258
Barra oscilante, suspensién de ruedas
> Triangle de suspension
i WISHBONE FRONT,LH
r 4209258 salincak, 6n sol, st FOR RWD
4806735070 pblyar PAIR:4209257

2023-08 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

29 of 33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4200124 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 36,1x18,5x50,3 mm
4863235070 calineHT6N0K FOR 4209257/8

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

VOLKSWAGEN ATLAS 05/17-
BALL JOINT LH
2904041 rotil, 6n sol FRONT
T4 3QF407365 LwapoBan onopa, ycuneHHas PAIR: 2904042
"?' Roétula de suspensidn/carga

Rotule de suspension

2904042 BALL JOINT RH
rotil, 6n sag FRONT
3QF407366 LwapoBasn onopa, ycuneHHas PAIR:2904041

Rétula de suspension/carga

Rotule de suspension

VOLKSWAGEN CRAFTER (SY,S2) 09/16-
: 2008045 oz -
- 2N0505465 cToliKa ctabunusatopa

= Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

VOLKSWAGEN GOLF VIII (CD1) 08/19 -
2 2902052 fotbag, on 5o wiex1 s
‘ 5WA423811D HaKOHEYHWUK pyNeBOM TATU PAIR:2902053

Rétula barra de acoplamiento
Rotule de direction

> TIE ROD END RH
- 2902053 rotbasi, 6n sag M16X1,5
5WA423812D HaKOHEYHUK py/ieBOM TATU PAIR:2902052
Rétula barra de acoplamiento
Rotule de direction
VOLKSWAGEN POLO (9N, 9A4) 10/01 - 11/09
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
2600006 salincak burcu 71x26x51,5 mm
1K0 407 183E caiineHT610K pblyara 4 pins; FOR 2900045/6
6Q0 407 183 Casquillo cojinete, brazo oscilante

6Q0 407 183A Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW._FORMPART.COM 300f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

VOLVO S 60 Il 01/19-
3002025 TIE ROD END RH
o rotbasi, 6n sag M12x1,75;M18x1,5
[ 31681049 HaKOHEYHWK py/ieBOM TArU PAIR:3002026
H 32221688 Rétula barra de acoplamiento
Rotule de direction
3002026 TIE ROD END LH
= rotbasi, 6n sol M12x1,75;M18x1,5
1 31681048 HaKOHEYHUK pyneBoit Tarm PAIR:3002025
h 32221687 Rétula barra de acoplamiento
Rotule de direction
3008032 STABILIZER LINK FRONT,RIGHT
3 denge rotu, 6n sag L=167 mm;M12x1,75
—-—-—---—-‘@ 31658287 cToiiKa crabunusaropa PAIR:3008033
@ b Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3008033 STABILIZER LINK FRONT,LEFT
P denge rotu, 6n sol L=167 mm;M12x1,75
Q%————@ 31475 640 cToliKa ctabunusatopa PAIR:3008032
b 1 31658 286 Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

VOLVO S90 11 (234) 10/17-
3009045 WISHBONE FRONT,LH
salincak, 6n sol, Ust
31360836 pbiyar PAIR:3009046
Barra oscilante, suspensién de ruedas
Triangle de suspension
3009046 WISHBONE FRONT,RH
salincak, 6n sag, Ust
31360837 pblyar PAIR:3009045
Barra oscilante, suspensién de ruedas
Triangle de suspension
VOLVO V60 09/10 -
TIE ROD END RH
3 3002025 rotbasi, 6n sag M12x1,75;M18x1,5
A 31681049 HaKOHEYHWK py/nieBOM TATU PAIR:3002026
- . 32221688 Roétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
. 3002026 rotbasi, 6n sol M12x1,75;M18x1,5
1 31681048 HaKOHEUYHUK pyneBoil TAru PAIR:3002025
Py, 32221687

Roétula barra de acoplamiento
Rotule de direction

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

310f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3008032 STABILIZER LINK FRONT,RIGHT
: denge rotu, 6n sag L=167 mm;M12x1,75
@——-—-—-——-—‘@ 31658287 cToliKa ctabunusatopa PAIR:3008033
Ly e
o Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3008033 STABILIZER LINK FRONT,LEFT
7 denge rotu, 6n sol L=167 mm;M12x1,75
- 31475640 cToliKa ctabunusaropa PAIR:3008032
s \ 31658 286

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

VOLVO V90 Il (235,236) 10/17-
& 3009041 WISHBONE FRONT,RH
~ 2 & salincak, 6n sag, Ust
® 31360633 pbluar PAIR:3009042
Barra oscilante, suspensién de ruedas
© Triangle de suspension
P WISHBONE FRONT,LH
% % i 3009042 salincak, 6n sol, st
9 31360630 pbivar PAIR:3009041
Barra oscilante, suspensién de ruedas
o Triangle de suspension
’ @ |
VOLVO XC40 (536) 10/17 - %"’
STABILIZER LINK FRONT
3008034 denge rotu, 6n sag-sol L=276,5 mm
H 31658405 cToiiKa ctabunusatopa
> 32221271 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK REAR
D -y 4 3008035 denge rotu, arka sag-sol L=145 mm
u 32221272 cToiiKa crabunusatopa
32221469 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
i afeie- Yo\
VOLVO XC60 1l (246) 10/17- ‘ ';‘”t ]
: a—
& 3009041 WISHBONE FRONT,RH
~ 3 & salincak, 6n sag, st
‘ 31360633 pblyar PAIR:3009042
Barra oscilante, suspensién de ruedas
© Triangle de suspension
3 3009042 WISHBONE FRONT,LH
b % ” salincak, 6n sol, st
> 31360630 pbluar PAIR:3009041

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-08 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

320f33



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

VOLVO XC90 Il (256) 06/15 -
& - 3009041 WISHBONE FRONT,RH
'\‘\ P salincak, 6n sag, st
t 31360633 pblyar PAIR:3009042

Barra oscilante, suspensién de ruedas

© Triangle de suspension
oD 3009042 WISHBONE FRONT,LH
3 //' salincak, 6n sol, Ust
5‘ 31360630 pbiyar PAIR:3009041

Barra oscilante, suspensién de ruedas
Triangle de suspension

FLYER-2023-08

STOCK AND PRICE INFO ONLINE
2023-08 (BY APPLICATION) WWW._FORMPART.COM 330f33



